MAC 2311 - Period: Name: -K L.., Y

Quiz 2 - Form A Please write your name and form on your paper.

September 8, 2015 Show your work to earn full credit.
—-11

1. Show that f(z) = ;:1: e~ is invertible, find its inverse, then find the domain of f~!(z). (2 points)

2. Rewrite sin (2 tan™ (7)) as an algebraic expression of z then state the domain on which the
equivalence is valid. (2 poinis)

3. Solve the following equation for z: log, (5 — 5z) — log, (1 + z°) = log, 2. (2 points)

MAC 2311 - Period: Name:

Quiz 2 - Form B Write your name and form on both sheets of paper.

September 8, 2015 Show your work to earn full credit.
r+11

1. Show that f(z) =

T—) is invertible, find its inverse, then find the domain of f~!(x). (2 points)

2. Rewrite sin (2cot™ (z)) as an algebraic expression of z then state the domain on which the
equivalence is valid. (2 poinis)

3. Solve the following equation for x: logg (2 — x) — logg (7 — z) = 2. (2 points)

MAC 2311 - Period: Name:

Quiz 2 - Form C Write your name and form on both sheets of paper.
September 8, 2015 Show your work to earn full credit.
1. Show that f(z) = 32:_59 is invertible, find its inverse, then find the domain of f~1(z). (2 points)

2. Rewrite cos (2tan™' (7)) as an algebraic expression of = then state the domain on which the
equivalence is valid. (2 points)

3. Solve the following equation for z: 2log, () = log; (2) + log, (x + 40). (2 points)

MAC 2311 - Period: Name:

Quiz 2 - Form D Write your name and form on both sheets of paper.
September 8, 2015 Show your work to earn full credit.
1. Show that f(z) = 33;-';59 is invertible, find its inverse, then find the domain of f~!(z). (2 points)

2. Rewrite cos (2cot™ (z)) as an algebraic expression of z then state the domain on which the
equivalence is valid. (2 points)

3. Solve the following equation for &: In (5 - 5z) — In (1 + 2*) = Ine. (2 points)

Problem References:

1. Section 1.5 #4 and Webassign HW 2 #3.

2. Section 1.5 #39,40 and Webassign HW 2 #9.

3. Section 1.6 #28,33,34 and Webassign HW 2 #17,18.



MAC 2311 - Period: Name:
Quiz 2 - Form A Please write your name and form on your paper.
September 8, 2015 Show your work to earn full credit.
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T i is invertible, find its inverse, then find the domain of f~!(z). (2 points)

2. Rewrite sin (2tan™" (z)) as an algebraic expression of x then state the domain on which the
equivalence is valid. (2 points)

1. Show that f(z) =

3. Solve the following equation for : log, (5 — 5z) ~ log, (1 + z*) = log, 2. (2 points)
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MAC 2311 - Period: Name:
Quiz 2 - Form B Write your name and form on both sheets of paper.
September 8, 2015 Show your work to earn full credit.

T+ 11
2z —4

2. Rewrite sin (2cot™ (z)) as an algebraic expression of  then state the domain on which the
equivalence is valid. (2 points)

1. Show that f(z) = is invertible, find its inverse, then find the domain of f~!(x}. (2 points)

3. Solve the following equation for z: logg (2 — ) — log, (7 = z) = 2. (2 points)
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MAC 2311 - Period: Name:
Quiz 2 - Form D Write your name and form on both sheets of paper.
September 8, 2015 Show your work to earn full credit.

T+5
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2. Rewrite cos(2cot™ (z)) as an algebraic expression of z then state the domain on which the
equivalence is valid. (2 poinis)

1. Show that f(z) = is invertible, find its inverse, then find the domain of f~!(z). (2 points)

3. Solve the following equation for z: In (5 — 5z) — In(1 + 2?) = Ine. (2 points)
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